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goooooobopoooooboOooOoDODObOOOODODODODODObO0Ob00D0DD DODOOD 50-80 %
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0000000000000 =0000000000 (Watt)x000OO0OOCOO0OO0ODDO0ODDODD x0OODOOCOODOOD x30
0oo /1000

000000000000 00DO0D0000000000 Mitsubishi Electric0000 MS-SGHO9VC

0ooooooooooon (Power Consumption) 780 W




goobooooooooonoo

Written by Administrator
Monday, 04 November 2013 14:46 -
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0o0oooooDo0ooboODoO 80000O0O0D (DOCDODODDOD 60000O0ON)

0000000000000 =(780x6 x4 x30)/1000

=562000 /00000

0000000000000 =00000000000000 (kW) x0OO0ODODOODODODOO0O0O0OD x000ODOODO0ODD x30
ooo / COP

000000000000 0DDODDOOCO000000 Mitsubishi Electric 0000 MS-SGHO9VC

00000000000000D (Cooling Capacity) 2.7 kW

COP (Coefficient of Performance) 3.46

DOo0ooobooooDooD 4000
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0o0oooooDo0ooboODoO 80000O0O0D (DOCDODODDOD 60000O0ON)

0000000000000 =(2.7x6x4x30)/3.46

=562 000 /00000

goooooon COPOOOOD Coefficient of Performance
gooo0ooooooooooooooobooboopooooo0ooooooooooooooOobODOObODOOD Dboobo0ooo0obo0ooOooDoooDoO

COP = Cooling Capacity (kW) / Power Input

000000000000 DODOODODODOODO0O0OD0O0D 9,000 BTUODOD Cooling Capacity 000000 2.7 kW /
Power Input 0.78 kW 00000 COP = 3.46
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